ORIGINAL

### **CONFIDENTIAL**

#### KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

#### WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Form ACO-1 September 1999 Form Must Be Typed

1/08/11

Operator: License #_4767	API No. 15 - 057-20536-0001
Name: Ritchie Exploration, Inc.	County: Ford
Address: P.O. Box 783188	approx -C - NE - NE Sec. 32 Twp. 28 S. R. 23 ☐ East 🗸 West
City/State/Zip: Wichita, KS 67278-3188	660 feet from S N circle one) Line of Section
Purchaser: NCRA	660 feet from E W (circle one) Line of Section
Operator Contact Person: John Niemberger	Footages Calculated from Nearest Outside Section Corner:
Phone: (_316) _691-9500	(circle one) NE SE NW SW
Contractor: Name: Duke Drilling Co., Inc.	Lease Name: Arch OWWO Well #: 1
License: 5929 KANSAS CORPORATION COMMI	S\$fièld Name:
Wellsite Geologist: Gary Rowe/Bennie Dills	Producing Formation: Pawnee
Designate Type of Completion:	Elevation: Ground: 2466 Kelly Bushing: 2478
New Well Re-Entry Workove WINDURSION	Total Depth: 5163 Plug Back Total Depth: 5085
✓ Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 661 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?   ✓ Yes   No
Dry Other (Core, WSW, Expl., Cathodic, etc) 中国国际	If yes, show depth set 1428 Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 1428
Operator: Hugoton Energy Corp.	feet depth to surface w/_575 sx cmt.
Well Name: Patton #1-32	
Original Comp. Date: 10/31/1995 Original Total Depth: 5410'	Orilling Fluid Management Plan ALL T ART ART ART (Data must be collected from the Reserve Pil)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 72000 ppm Fluid volume 1200 bbls
Plug BackPlug Back Total Depth	Dewatering method used evaporation
Commingled Docket No	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
10/30/08 10/31/08 11/1/08	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or Recompletion Date	QuarterSecTwpS. R East West County: Docket No.:
INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas 67202, within 120 days of the spud date, recompletion, workover Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs are TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. months if requested in writing and submitted with the form (see rule 82-3-nd geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
All requirements of the <u>statutes, rules and regulations</u> promulgated to regulate nerein are complete and correct to the best of my knowledge.	KCC Office Use ONLY
Signature:	
Title: Production Manager Date: 1/8/09	Letter of Confidentiality Received
Subscribed and sworn to before me this	If Denied, Yes Date:
20 09	Wireline Log Received
Notary Public: Labbua Hhell	Geologist Report Received  UIC Distribution
Date Commission Expires: 5-4-11	

A. DEBRA K. PHILLIPS

Notary Public - State of Kansas

My Appt. Expires 5-4-//

Operator Name: Rite	chie Exploration,	Inc.	Lease	Name:	Arch OWWO		_ Well #: 1		
Sec. 32 Twp. 28 S. R. 23 East  West		County							
tested, time tool ope temperature, fluid re	n and closed, flowin covery, and flow rate	and base of formations g and shut-in pressures ss if gas to surface test, final geological well site	, whether sh along with fi	nut-in pre	essure reached	l static level, hydro	ostatic pressur	es, bottom ho	ole
Drill Stem Tests Taken				Log Formation (Top), Depth		and Datum	Sample		
Samples Sent to Ge Cores Taken Electric Log Run (Submit Copy)	ological Survey	Yes No Yes No Yes No		Nam	e		Тор	Datu	m
List All E. Logs Run:						V 1			
Gamma Ray	Correlation Lo	og			 N.X.	A SAME OF SAME			
		CASINO Report all strings set	G RECORD	✓ Ne urface, inte		ction, etc.			
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig Lbs.		Setting Depth	Type of Cement	# Sacks Used	Type and F	
Surface		8-5/8			661	- Comoni	0000		
Production	7-7/8	4-1/2	10.5		5155	ASC	225	10% soft, 2% gel & 5# ;	per sack flo-ecal
		ADDITIONA	AL CEMENTII	NG / SQI	JEEZE RECOR	D			
Purpose:  — Perforate  — Protect Casing  — Plug Back TD  — Plug Off Zone	Depth Top Bottom	Type of Cement	#Sacks	Used		Type and I	Percent Additive:	S	
	DEDECORAT	ION BECORD - Bridge Bl	uga Sat/filma		KANGAO	RECEIVED	t Causana Dana		
Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated				KANSAS SORP (Short Sement Squeeze Record (Amount and Kind of Material Used) Depth					
4 4972' - 4976' (11/11/08)				750 gals 15	AN 0 9 2009	)			
					со	NSERVATION DIVISI WICHITA, KS	ON		
TUBING RECORD	Size	Set At	Packer A	<u></u>	Liner Run				
	3/8	5062	i donoi A			Yes No	)		
Date of First, Resumer 11/26/08	d Production, SWD or I	Enhr. Producing Mo	-	Flowin	g 🕢 Pumj	oing Gas Li	ift 🔲 Oth	er (Explain)	
Estimated Production Per 24 Hours	Oil 15.03	Bbls. Gas	Mcf	Wate 27.07		Bbls.	Gas-Oil Ratio	G 37	ravity
Disposition of Gas						****			
Vented Sold	Used on Lease	Open Hole	لببت	. 🔲 t	Dually Comp.	Commingled _			

## ALLIED CEMENTING CO., LLC. 34058 Federal Tax I.D.,

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	Medicine Lodg et S
DATE 04 Nov 00 32 TWP RANGE 23 W	ALLED OUT ON LOCATION JOB START JOB FINISH  2007 3307
<b>A</b>	5, 4 N, 5 W, 55, Winto Ford STATE
OILD OR NEW (Circle one)	
CONTRACTOR Plains W/s #9	OWNER Ritchie Explo.
HOLE SIZE T.D.	CEMENT
CASING SIZE DEPTH	CEMENT AMOUNT ORDERED 605x 60:40:6% / Seft
TUBING SIZE 23/8 DEPTH / 43	1/4 = Flosed (USed 570 SX)
DRILL PIPE DEPTH	
PRES. MAX /200 MINIMUM —	COMMON 3 4 2 A @ 15,45 5283.90
MEAS. LINE SHOE JOINT	POZMIX 228 @ 8.00 1824.00
CEMENT LEFT IN CSG.	GEL 30 @ 20.80 6 24.00
PERFS.	CHLORIDE@
DISPLACEMENT 4/2 B6/s Fush Ho	ASC
EQUIPMENT	<u>F10 Seal 143 = @ 2.50 357.50</u> @
PUMP TRUCK CEMENTER D. Feli: - D. West #352 HELPER M. Becken	
#352 HELPERM, Becker BULK TRUCK	<u> </u>
#356-251 DRIVER M. Thimesch	
BULK TRUCK	
#368-250 DRIVER R. FRanklin	HANDLING 637 @ 2.40 1528.80
	MILEAGE 80 × 637 X.10 5096.00
REMARKS:	TOTAL 14714, 20
Tubing at 1431, Pressitest to 1200th, open	N. Corco
tool take injection Mix 570,5x	SERVICE
Coment State Ding w/4/2	DEPOSITOR 1//21
120 BL Run in 45ts	DEPTH OF JOB <u>/43/</u> PUMP TRUCK CHARGE//85,00
Reverse out w/ 1886/s Fres 4 HO	EXTRA FOOTAGE@
	MILEAGE 80 @ 7.00 560.00
	MANIFOLD@
	@ @
D'11.	
CHARGE TO: Ritchie Explo.	TOTAL 1745, BOWAG RECK.
STREET	CORPORATIC:
CITYSTATEZIP	TOTAL 1745, CONSAS CORPORATION CONTAINS INC.
	PEUG & FLOAT EQUIPMENT
	CONSERVATIO
	@ WICHITA, KS
To Allied Cementing Co., LLC.	TOnc @
You are hereby requested to rent cementing equipment	· · · · · · · · · · · · · · · · · · ·
and furnish cementer and helper(s) to assist owner or	@
contractor to do work as is listed. The above work was	TOTAL I
done to satisfaction and supervision of owner agent or	TOTAL
contractor. I have read and understand the "GENERAL	SALES TAX (If Any)
TERMS AND CONDITIONS" listed on the reverse side.	
Can R 12	TOTAL CHARGES
PRINTED NAME GAY KOWE	DISCOUNT IF PAID IN 30 DAYS
6 /1	ANTW ADDITION DETECTAN
SIGNATURE OGy Home	ANY APPLICABLE TAX WILL BE CHARGED

**UPON INVOICING** 

# ALLIED CEMENTING CO., LLC. 34056

rederal	
REMIT TO P.O. BOX 31	SERVICE POINT:
RUSSELL, KANSAS 67665	Medicine Louberts
10-31-08	ALLED OUT ON LOCATION JOB START JOB FINISH
DATE SEC. TWP. RANGE 23W	300pm 7:30pm 4:30Am 5:30 Am
Aech / C. ha	COUNTY STATE KS
OLD OR NEW (Circle one)  LOCATION Ford, O	, 19 N, 5W, 55, 50 45 1 WEEL 17 45
CED OK 112 W (Citate dila)	
CONTRACTOR Duke 4	OWNER Ritchie Explo.
TYPE OF JOB Production Cusing	CUENCENTE
HOLE SIZE 7 % T.D. 5/63 CASING SIZE 4/6 DEPTH 5/5/	CEMENT AMOUNT ORDERED 250sk ASC +5#KJ-
CASING SIZE 4% DEPTH 5/5/ TUBING SIZE DEPTH	seal + .5% Fl-160
DRILL PIPE DEPTH	1,
TOOL Port Collan DEPTH	
PRES. MAX 1400 MINIMUM —	COMMON@
MEAS. LINE SHOE JOINT 39	POZMIX@
CEMENT LEFT IN CSG. 39 PERFS.	GEL @
DISPLACEMENT 81/2 Blos Fresh HZ	ASC 250 A @ 18.60 4650.00
EQUIPMENT	Kolseal 1250 "@ ,89 1112.50
EQUI MENT	FL-160 118 = @ 13.30 1569.40
PUMP TRUCK CEMENTER D. Felis	
# 352 HELPER M. Becker	@
BULK TRUCK	
#364 DRIVER R. Franklin	@
BULK TRUCK	@
# DRIVER	HANDLING 320 @ 2.40 768.00 NEWA
	MILEAGE 80 x 320 x 10 2560.00
REMARKS:	TOTAL 10659.90
Pipe on BHM, Bank Circ. Pump Preflux	) )
Plin Rot & Mouse Hole w/ 25 sx Coment, Mix	SERVICE
225sx ASC coment, Stopfump, Wash	DEPTH OF JOB 5/5/
Frosh 43). See increase in PST Slow Rote	PUMP TRUCK CHARGE 2295.00
Bump Plug et B/2 Bb/s	EXTRA FOOTAGE@
total Disp., Release PSI, Float Did Hold	MILEAGE <b>80</b> @ 7.00 560.00
	MANIFOLD head Rental @ 113.00 113.00
CHARGE TO: Ritchie Explo.	
•	TOTAL 2968, OTO ANSAS CORD
STREET	TOTAL 2968.00 KANSAS CORPORATION TO THE PARTY OF THE PART
CITYSTATEZIP	./AN D a
	PLUG & FLOAT EQUIPMENT 9 2009
	CONSERVATION
/11/ <sup>9</sup>	1-Guide Shoe @ 169.00 169.00 WICHITA, KS JN @ 254.00
7/2	1-Rubber Plus @ 62.00 62.00
To Allied Cementing Co., LLC.	5- turbolizous @ 68.00 340.00
You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	3- Baskets @ 169.00 507.00
contractor to do work as is listed. The above work was	1-Larson Port Collar 1800.00 1800.00
done to satisfaction and supervision of owner agent or	TOTAL <u>3/32.0</u> 0
contractor. I have read and understand the "GENERAL	
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)
	TOTAL CHARGES
PRINTED NAME	DISCOUNT
	DISCOURT I THID II SO DATE
SIGNATURE Bennie Della	ANY APPLICABLE TAX
SIGNATURE COMPANY THAT	WILL BE CHARGED
	UDON INVOICING